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& {iz 18 &8 4 =R
B B FH=A 234
Bk N 236
3L AMASIL 237
¥ ML 238
5{iz FH=B 239
6L ABEA 242
741 AEIER 242
8fiL EAR 244
9fiL T 247
10 KHIE 249
114z AREANN| 249
1241 FHEC 250
1341 FE 256
14431 FEiA 256
1541 =ARIR 256
164iL ) 257
1741 ARZEB 268
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Il {5z 8 &8 4 B
B B AAEA 216.8
Bk T% 219.4
3L FE 220
431 =IRIR 220
5L ARz )1 221.4
613z FH=B 222
7451 AEIER 222.8
8fiL KHR 223.2
9fiz NI 224.6
104 3N 224.6
1141 BEiA 224.8
1243 =) 225.4
1341 FHEC 229.2
1441 ARZEB 233.2
AFYRLS FHEA REIER ouT 37 IN 39  GROSS 76

ML HES OUT 38 IN 38 GROSS 76



X W H TNV T KRAHT0E L EOH B E
EEH: 20174E11H09H ARBEH
2 BoaAVvIA Ry )N 7{HEEE 5,622 Yard Par 72

TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
== ==
FAEA N IT
234 1 238 4 2246 9
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
X F I I 37 | 39 76 *| 48 712 FH+ L C3] 38 | 38 76 *| 36 |724*
B B - 2 39 | 39 78 * 36 744 E O34 i — 40 | 39 79 * 24 |766
nm B8 B — 36 | 44 80 * 36 764 F £t = 42 4 83 % 72 |758%*
=R S T ' 40 | 44 84 96 744 X % x & 42 | 44 86 96 |764*
TOTAL JEfZ | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
mAR FHEB
236 2 239 5 12220 6
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
A+ B F X 39 | 38 77 % 48 722 R ROA 39 | 38 77 *| 48 |722%
5] O b 37 | 40 77 * 24 746 xE % B = 39 | 39 78 *| 24 |756
1l =2] * 40 | 42 82 *| 84 736 O OHF 7 FH 42 | 42 84 *| 96 [744%*
®oum Hf  # 44 | 40 84 | 108 732 R W B ¥ 41 44 85 96 |754*
TOTAL J[EfZ | TOTAL | NET TOTAL | J[Efz | TOTAL | NET
EIPER=T10 ABEA
237 3 242 6 216.8 1
K £ OUT | IN |TOTAL HDCP NET K 4 OUT | IN |TOTAL HDCP| NET
m K B X 41 | 36 77 *| 84 686 B ## E X B 38 | 39 77 * 72 69.8*
I g5 R 41 37 78 *| 60 720 ® OE — BB 42 | 40 82 *| 84 |736*
= I 1T N - 40 | 42 82 * 72 748 = A ah 44 | 39 83 * 72 |758
= H = 4 | 44 85 | 120 73.0 N BN B 4 | 42 83 | 96 734*




X B LTV T7 KR&ET0 B E oK

et H: 20174E11H09H KRBEH

2 BoaAVvIA Ry )N 7{HEEE 5,622 Yard Par 72
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TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET

AZBIE R AHE
242 7 2228 7 249 10 2232 8
K 4 OUT| IN TOTAL|HDCP NET K £ OUT| IN TOTAL|HDCP| NET
S || IS~ R 3 38 | 40 78 *| 48 732*% ES| g5 40 | 42 82 *| 96 [724%*
3 P F 38 | 43 81 *| 60 750%* A B E A 39 | 44 83 *| 6.0 [770
 H - B 42 | M 83 *| 84 746* T F OB OO 42 | 42 84 *| 84 |756*
v 1t E 43 | 43 86 | 108 |75.2*
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET

ER AREA 1|
244 8 2246 10 249 11 2214 5
K 4 OUT| IN TOTAL|HDCP NET K £ OUT| IN TOTAL|HDCP| NET
t # - % 36 | 41 77 * 0 (770 ® R & 39 | 40 79 *| 48 |742%
r % = 8 39 | 40 79 *| 60 730* X o g 38 | 46 84 *| 108 |73.2*%
X K #H =x 42 | 46 88 *| 120 760* W ¥ x * 40 | 46 86 *| 120 [740*
N K B - 48 | 42 90 | 144 756% fit] =x &= 46 | 45 91 10.8 |80.2
TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET

T FEEC
247 9 2194 2 250 12 1229.2 13
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
* Lt E = 41 37 78 *| 48 732* E ®E B B 43 | 39 82 * 84 |736*
B B E B 42 | 41 83 *| 96 734%* H # B X 43 | 4 84 *| 6.0 [780%*
£ B B B T 43 | 43 86 *| 120 740 X X F =E 46 | 38 84 *| 48 [79.2
Ul X 5 42 | 44 86 | 132 728% B OB & i 47 | 39 86 84 |776*




X W H TNV T KRAHT0E L EOH B E
EEH: 20174E11H09H ARBEH
2 BoaAVvIA Ry )N 7{HEEE 5,622 Yard Par 72

TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
FHE b
256 13 2200 3 257 16 2254 12
K 4 OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
N B A 39 | 41 80 *| 72 728*%* 3 % - 40 | 42 82 *| 84 [736*
B B M = 42 | 45 87 * 132 738*%* BN F 2z 42 | 42 84 *| 48 (792
T A # E 7 44 | 45 89 *| 156 734* X & £ B 44 | 47 91 *| 144 |766*
Mmoo E OB 48 | 45 93 | 156 774 2 i iR 49 43 92 | 168 |75.2*
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
;] #RZEB
256 14 2248 11 268 17 2332 14
K 4 OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
s B X B 40 | 43 83 *| 60 770%* B B & 17 41 | 41 82 *| 48 [772*
% K B H 43 | 41 84 % 96 744% fr # & & BB 46 | 46 92 *| 132 |78.8
W w EF= B 44 | 45 89 *| 156 734* #®w o oH F B 46 | 48 94 *| 156 [784*
23 B ] 50 | 46 96 | 132 828 7 % = 52 | 46 98 | 204 |77.6*
TOTAL JEfZ TOTAL | NET
SRR
256 15 2200 4
K £ OUT | IN |TOTAL HDCP NET
il i B 38 | 39 77 *| 72 698*
z— F H = 45 | 43 88 * 132 748*%*
% K — BB 46 | 45 91 * 156 754%*
N #t S 52 | 49 | 101 | 16.8 |84.2




